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1.Two students performed the same 6. If the concentration of glucose

experiment separately and each one (C6H1206) in blood is 0.9 g L-1, what

ofthem recorded two readings of mass will be themolarity of glucose in blood?

which are given below. Correct readingof H5M

mass is 3.0 g. On the basis of given data, (i) 50 M

mark the correct option out of thefollowing (iii) 0.005 M

statements. (iv)0.5M

Student Readings 7. What will be the molality of the solution

() (i) containing 18.25 g of HCI gas in500 g of

A 3.012.99 water?

B 3.052.95 (1 0.1m

(i) Results of both the students are neither @iy1m

accurate nor precise. (111) 0.5 m

(i) Results of student A are both precise (iv)1m

and accurate. 8. One mole of any substance contains

(iii) Results of student B are neither 6.022 x 1023 atoms/molecules. Numberof

precise nor accurate. molecules of H2SO4 present in 100 mL of

(iv) Results of student B are both precise 0.02M H2S04 solution is

and accurate. (i) 12.044 x 1020 molecules

2. A measured temperature on Fahrenheit (1) 6.022 x 1023.molecules

scale is 200 °F. What will this readingbe (i) 1 x 2023 molecules

on Celsius scale? ‘ L (Iv) 12.044 %,1023 molecules

()40 °C % . 9:What is the mass percent of carbon in

(i) 94 °C | . carbon dioxide?

(iii) 93.3°C C 5 (1) 0.034%

(iv) 30 °C 4 (i) 27.27% _

3. What will-be the molarity-of a solution, e

which contains 5.85'g of NaCl(s) per500 (1ii)-3.4%

mL? (iv).28.7%

(i) 4 mol L-1 10. The'empirical formula and molecular

(ii)) 20 mol L-1 mass of a compound are CH20 and180 g

(iiii) 0.2 mol L1 respectively. What will be the molecular

(iv) 2 mol L-1 f_ormula of the compound?

4.1 500 mL of a 5M solution is diluted to (i) COH1809

1500 mL, what will be the molarity ofthe (i) CH20

solution obtained? (iii) C6H1206

(ii) 1.66 M 11. If the density of a solution is 3.12 g

(iiii) 0.017 M mL-1, the mass of 1.5 mL solution

(iv) 1.59 M ipsignificant figures is

5. The number of atoms present in one (i) 4.79

mole of an element is equal to (if) 4680 x 10-3g

Avogadronumber. Which of the following (iii) 4.680g

element contains the greatest number (iv) 46.80g _

ofatoms? 12. Which of the following statements

(i) 4g He about a compound is incorrect?

(ii) 46g Na (i) A molecule of a compound has atoms

(iii) 0.40g Ca of different elements.

(iv) 12g He
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(if) A compound cannot be separated into
its constituent elements byphysical
methods of separation.

(iii) A compound retains the physical
properties of its constituent elements.

(iv) The ratio of atoms of different
elements in a compound is fixed.

13. Which of the following statements is
correct about the reaction given
below:4Fe(s) + 302(g) —— 2Fe203(g)

(1) Total mass of iron and oxygen in
reactants = total mass of iron andoxygen in
product therefore it follows law of
conservation of mass.

(i) Total mass of reactants = total mass of
product; therefore, law of
multipleproportions is followed.

(iii) Amount of Fe203 can be increased by
taking any one of the reactants(iron or
0Xxygen) in excess.

(iv) Amount of Fe203 produced will
decrease if the amount of any one of

thereactants (iron or oxygen) isstaken in

E€XCeSS.

14. Which of the‘following reactions'is not ;"f‘;
' % Mg, Al and Si are in thesorder:

correct according to the law of
conservation of mass.

(i) 2Mg(s) +02(g) —» 2MgO(s)

(ii) C3H8(g) + 02(g) — CO2(g) +
H20(g)

(iii) P4(s) + 502(g) —— P4010(s)

(iv) CH4(g) + 202(g) —— CO2(g).+ 2H20
(9)

15. Which of the following statements
indicates that law of multiple proportion
isbeing followed.

(i) Sample of carbon dioxide taken from
any source will always have carbonand
oxygen in the ratio 1:2.

(i1) Carbon forms two oxides namely CO2
and CO, where masses of oxygenwhich
combine with fixed mass of carbon are in
the simple ratio 2:1.

(ii) When magnesium burns in oxygen,
the amount of magnesium takenfor the
reaction is equal to the amount of
magnesium in magnesiumoxide formed.
(iv) At constant temperature and pressure
200 mL of hydrogen will combinewith 100

mL oxygen to produce 200 mL of water
vapour.

16. Consider the isoelectronic species,
Na+, Mg2+, F—and O2-. The correct
order ofincreasing length of their radii is

(i) F- <02- < Mg2+ <Na+

(i) Mg2+ < Na+ < F- < 02—

(iii)) 02— < F— < Na+ < Mg2+

(iv) 02— < F— < Mg2+ < Na+

17. Which of the following is not an
actinoid?

(i) Curium (Z = 96)

(i) Californium (Z = 98)

(iii) Uranium (Z = 92)

(iv) Terbium (Z = 65)

18. The order of screening effect of
electrons of s, p, d and f orbitals of a
givenshell ef.an.atom on its outer shell
electrons is:

(1) s >p>d >f

) f >d >p >s

(iii) p <d <s >f

(W) f>p >s >d

19°The first ionisation enthalpies of Na,

(i) Na < Mg > AP Si

“@i) Na>Mg > Al > Si

(iti) Na< Mg < Al < Si

(iv) Na>Mg > Al <'Si

20. The electronic configuration of
gadolinium (Atomic number 64) is

(i) [Xe] 4f 3 5d5 6s2

(i) [Xe] 4f 7 5d2 6s1

(iii) [Xe] 4f 7 5d1 6s2

(iv) [Xe] 4f 8 5d6 652

21. The statement that is not correct for
periodic classification of elements is:

(1) The properties of elements are periodic
function of their atomic numbers.

(i) Non metallic elements are less in
number than metallic elements.

(iii) For transition elements, the 3d-orbitals
are filled with electrons after3p-orbitals
and before 4s-orbitals.

(iv) The first ionisation enthalpies of
elements generally increase withincrease
in atomic number as we go along a period.
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22. Among halogens, the correct order of
amount of energy released in electrongain
(electron gain enthalpy) is:

M F>CI>Br>1

(i F<Cl<Br<lI

(lii)F<CI>Br>1

(iv)F<Cl<Br<I

23. The period number in the long form of
the periodic table is equal to

(i) magnetic quantum number of any
element of the period.

(ii) atomic number of any element of the
period.

(iii) maximum Principal quantum number
of any element of the period.

(iv) maximum Azimuthal quantum number
of any element of the period.

24. The elements in which electrons are
progressively filled in 4f-orbital are called
(i) actinoids

(i) transition elements

(iii) lanthanoids

(iv) halogens

25. Which of the following is the correct  °

order of size of the given Species:
MO 1>1=>1+

@iy 1+>1->1

@@i) 1> 1+ >4~

(iv) I->1> I+

26. Isostructural species are those which
have the same shape and
hybridisation.Among the given species
identify the isostructural pairs.

(i) [NF3 and BF3]

(ii) [BF4—and NH4+ ]

(iii) [BCI3 and BrClI3]

(iv) [NH3 and NO3-]

27. Polarity in a molecule and hence the
dipole moment depends primarily
onelectronegativity of the constituent
atoms and shape of a molecule. Which
ofthe following has the highest dipole
moment?

(i) CO2

(ii) HI

(iii) H20

(iv) SO2

28. The types of hybrid orbitals of nitrogen
in NO2+, NO3- and NH4+ respectively
are

expected to be

(1) sp, sp3 and sp2

(ii) sp, sp2 and sp3

(1ii) sp2, spand sp3

(iv) sp2, sp3 and sp

29. In PO43- ion the formal charge on the
oxygen atom of P—O bond is

iH+1

(i)-1

(iii) — 0.75

(iv) +0.75

30. In NO3- ion, the number of bond pairs
and lone pairs of electrons on nitrogen
atom are

22

(i) 3,1

(i) 1,3

(iv).4, 0

31. Which of the following species has
tetrahedral'geometry?

(i) BH4—
W (i) NH2-

(iii) CO32-

(V) H3Q:407

32..We know that the relationship between
K¢ and KpisKp= KE(RT)A n

What would be the value of Anfor the
reactionNH4CI (s) UNH3 (g) + HCI (g)
(i1

(i) 0.5

(iii) 1.5

(iv) 2

33. For the reaction H2(g) + 12(g) [12HI
(g), the standard free energy is AGV >
0.The equilibrium constant (K ) would be

HK=0

(ihK>1

(liK=1

(ivyK<1

34. Which of the following is not a general
characteristic of equilibria
involvingphysical processes?

(1) Equilibrium is possible only in a closed
system at a given temperature.
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(if) All measurable properties of the
system remain constant.

(iii) All the physical processes stop at
equilibrium.

(iv) The opposing processes occur at the
same rate and there is dynamicbut stable
condition.

35. PCI5, PCI3 and CI2 are at equilibrium
at 500K in a closed container and
theirconcentrations are 0.8 x 10-3 mol L—
1,1.2 x 10-3 mol L-1 and 1.2 x 10-3 mol
L-1

respectively. The value of Kc for the
reaction PCI5 (g) PCI3 (g) + CI2 (g)will
be

(i) 1.8 x 103 mol L-1

(ii) 1.8 x 10-3

(iii) 1.8 x 10-3 L mol-1

(iv) 0.55 x 104

36. Which of the following statements is
incorrect?

(i) In equilibrium mixture of ice and water
kept in perfectly insulated flaskmass of ice
and water does not change with time.
(i) The intensityof red colour gAncreases
when oxalic acid is added to asolution
containing iron (1) nitrate and potassium
thiocyanate.

(iii) On addition of catalyst the equilibrium
constant value is not affected.

(iv) Equilibrium constant for a reaetion
with negative AH value decreasesas the
temperature increases.

37. When hydrochloric acid is added to
cobalt nitrate solution at roomtemperature,
the following reaction takes place and the
reaction mixturebecomes blue. On cooling
the mixture it becomes pink. On the basis
of thisinformation mark the correct
answer.

[Co (H20)6]3+ (aq) + 4Cl- (aq)
1[CoCl4]2— (aq) + 6H20 (I )(pink) (blue)
(i) AH > 0 for the reaction

(i1) AH < 0 for the reaction

(iii) AH = 0 for the reaction

(iv) The sign of AH cannot be predicted on
the basis of this information.

38. The pH of neutral water at 25°C is 7.0.
As the temperature increases, ionisationof
water increases, however, the oncentration

-

of H+ ions and OH- ions areequal. What
will be the pH of pure water at 60°C?

(i) Equal to 7.0

(i) Greater than 7.0

(iii) Less than 7.0

(iv) Equal to zero

39. The ionisation constant of an acid, Ka,
is the measure of strength of an acid.The
Ka values of acetic acid, hypochlorous
acid and formic acid arel.74 x 10-5, 3.0 x
10-8 and 1.8 x 104 respectively. Which
of the followingorders of pH of 0.1 mol
dm-3 solutions of these acids is correct?
(i) acetic acid > hypochlorous acid >
formic acid

(i) hypochlorous acid > acetic acid >
formic acid

(iii) formic acid. > hypochlorous acid >
acetic acid
(Iv) formic.acid > acetic acid >

‘hypochlorous acid

40.al1 K ,a2 Kand a3 K are the respective
ionisation constants for the

L followingreactions.
® H2S OH+ + HS-

HS— DH+ + S2—

w25 [ 20 38

The*Correct relationship between al K ,a 2
K'and a3 Kuis

(a3 K=alKxa2K
(Ha3K=alK+a2K

(a3 K=alK-a2K
(vya3K=alK/a2K

41. Acidity of BF3 can be explained on the
basis of which of the following concepts?
(i) Arrhenius concept

(i1) Bronsted Lowry concept

(iii) Lewis concept

(iv) Bronsted Lowry as well as Lewis
concept.

42. Which of the following will produce a
buffer solution when mixed in
equalvolumes?

(1) 0.2 mol dm—-3 NH4OH and 0.1 mol
dm-3 HCI

(i1) 0.05 mol dm-3 NH40H and 0.1 mol
dm-3 HCI

(111) 0.1 mol dm-3 NH4OH and 0.05 mol
dm-3 HCI
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(iv) 0.1 mol dm-3 CH4COONa and 0.1
mol dm-3 NaOH

43. In which of the following solvents is
silver chloride most soluble?

(1) 0.1 mol dm-3 AgNQO3 solution

(ii) 0.1 mol dm-3 HCI solution

(iii) H20

(iv) Aqueous ammonia

44. What will be the value of pH of 0.01
mol dm-3 CH3COOH (Ka =1.74 x 10-5
)?

(i) 3.4

(ii) 3.6

(iii) 3.9

(iv) 3.0

45, Ka for CH3COOH is 1.8 x 10-5 and K
b for NH40OH is 1.8 x 10-5 . The pH
ofammonium acetate will be

(i) 7.005

(i) 4.75

(iii) 7.0

(iv) Between 6 and 7

46. Which of the followingroptions Wilk be

correct for the stage'of half completion
of the reaction A [1B.
(1) AGV =0
(i) AGV >0
Plasterofparisisobtained—
byaddingwatertocalciumsulphate
byaddingsulphuricacidtocalciumhydroxid
e
byheatinggypsumtoaveryhightemperature
byheating gypsum to373 K.
. Bleachingpowder givessmellofchlorine
because it—
IS unstable
gives chlorine on exposure to atmosphere
isamixture ofchlorine andslakedlime

contains excess of chlorine
. Why bases are kept in glass bottles?
BasesproduceOH-ionsinaqueoussolutions

Basicsolutionsareconductinginnature
Bases are corrosive in nature
Baseshavesoapytexture

. Whichoneofthefollowingsaltswhendissolv

edinwatermakesthe solutionbasic?
Sodiumchloride

Coppersulphate

(iii) AGV < 0

(iv) AGV =-RT In2

47. On increasing the pressure, in which
direction will the gas phase reaction
proceed to re-establish equilibrium, is
predicted by applying the Le Chatelier’s
principle. Consider the reaction.

N2 (g) + 3H2 (g) [12NH3 (g)

Which of the following is correct, if the
total pressure at which the equilibrium
is established, is increased without
changing the temperature?

(1) K will remain same

(if) K will decrease

(i) K will increase

(iv) K will increase initially and decrease
when pressure is very high

48. What will be the correct order of
vapour pressure of water, acetone and
etherat30°C. Given that among these
compounds; waterhas maximum

‘boilingpoint and ether has minimum

p -

> w D

boiling point?

. (i) Water < ether < acetone

(||) Water < acetone < ether
(|||) Ether < acetone < water
(|v) Acetone <.ether < water

Ferrlcchlorlde
Sodiumacetate

+Whichofthefollowing saltsareinsoluble
inwater?

ChloridesofFeandMn
NitratesofAgand Pb
Carbonatesof Pband Cu
PhosphatesofNaandNH,

. Two elements gallium and oxygen
combine to form
acompoundGa,03.Whichamongthefollow
ingisthevalency of gallium ?

(@) 1 (b) 2
(c) 3 (d) 4

. Arrange the following bases in increasing
order of their,basicstrength
Sodiumhydroxide
Magnesiumhydroxide
Aluminiumhydroxide
Ammoniumhydroxide
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Selectthecorrectanswerusingthecodegiven

below
Codes:
A B C D
@) 4 2 1 3
(b) 4 1 2 3
(c) 4 3 2 1
(d) 1 2 3 4
56. Whichoneamongthefollowingisnotaprope
rtyofsalt?

a. Saltshaveorderedpackingarrangementscal

ledlattices

b. Saltshave lowmelting pointsbut
highboiling points

c. Saltsarebrittle

d. Saltsconductelectricitywhendissolvedinw

aterorevenin the molten state

57. Which among the following
statements withregard to

I. Itisalogarithmicscale.

1. ThescaleislimitedtoO-

14becausetheionicproductofwateris abouth‘-‘;

10-14
l1l. ThelowerthevalueofpH, thegreaterlstheam

dityofthesolution.
Selectthecorrect answerusing thecode

givenbelow
(@ landIlonly
() I, Iland HI
(c) land Il only
(d) Il only

58. Statementl:MetalionsareLewisacids.
Statementll:Metalionsareelectronpairacc
eptors.

a. BoththestatementsindividuallytrueandStat
ementllis thecorrect explanation
ofStatementl.

b. BoththestatementsareindividuallytruebutS
tatementllisnotcorrectexplanationofState
mentl.

c. StatementlistruebutStatementllisfalse.

d. StatementlisfalsebutStatementllistrue.
59. NeutralwaterwithpHabout7becomesslight
lyacidicwhenaerated.Thisis because
a. oxygenfromairisdissolvedinthewaterwhic

61.

oo

oo

hmakesthe wateracidic
dirt,whichgetcontaminatedwiththewaterd
uringaerationmakes the wateracidic
ultravioletradiationdissociateswatermolec
ulesandmakeswateracidic

carbon-dioxide from air is dissolved

. Theconcentrationofhydrochloricacidinagi

vensolutionis10-8M.Whatisthe valueof
pH forthis solution?

7 (b)> 7 but not 14

(c) <7 (d)14
Humanstomachproducesacid‘X’whichhel
psindigestionoffood.Acid‘X’is

acetic acid
methanoic acid
hydrochloric acid
citric acid

62pl_€lases tug&;ﬁg |IEg}HPeb|L£eO?P&?&IdS turn

&% o S

(o))
S

ue litmus red:
Astudenttestedaliquidwitharedlitmuspape
randitstayedredwithnochange. Thisshowst
hat'theliquid
mustbepurewater
must be an acie
iS nota base
IS neither a base:nor an acid
Whichofthefollowingstatementsregarding
oxidationand reduction are correct?
Inoxidation,lossofelectrontakesplacewher
easinreduction, gain of electron takes
place.
Inoxidation,gainofelectrontakesplacewher
easinreduction, loss of electron takes
place.

Oxidizingagentdecreasestheoxidationnum
berbutreducingagentincreasestheoxidatio
nnumber.
Oxidizingagentincreasestheoxidationnum
berbutreducingagentreducesthe
oxidationnumber.

Selectthe correctanswer usingthe
codegiven below:
Code :

(@) land3 (b) 2 and
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4 c. acertainamountofheatmustbetakenoutfro
(c) 2and 3 (d) 1and mtheglassof watersoas to solidify
4 d. watersolidifiesatOKonly
64. The following equation is an example of 71. Whichoneamongthefollowingdoesnothav
eanallotrope?
a redox a. Oxygen (b) Sulphur
reaction,inwhichCl,istheoxidizingagentan ((E:) tI)\Iltrogen (d)
dFeBrsisthereducing agent : arbon :
72. Deionisedwaterisproducedb
2FeBr3(aq)+3Cly ()=2FeCl3(aq)+3Br2 . Calgon process g
(1) b. Ioln-?,(c ange resin process
Whichoneamongthefollowingstatementsis 8'_ Se?{nuiﬁf)?g‘éseis
Incorrect _ 73.  Whichoneofthefollowingisthesecondary
for this redox reaction? sourceof
a. Oxidizingagentsarethemselvesreduced lightinafluorescentlamp?
b. Reducingagentsgainor appear to gain a Neo'r\I/?aS (b)Argongas
: gagentsg Pp 9 I(:c) ercuryvapour(d)
electrons luorescentcoating
c. Reducing agents are themselves oxidized ~ 74. Whichoneofthe followingisthesoftest?
. - a. Sodium (b)Aluminium
d. Oxidizingagentsoxidizeothersubstances
) o (c) Iron (d)Copper
65. Whichoneamongthefollowingisthecorrect 75. Which among the following elements is
orderofstrengthofacids? abundant on thelunar surface and holds
a. H»SO4>H3P03>CH3COOH the"potential toput an end to
b. H3PO3>H2SO4>CH3COOH . theenergyerisisof theearth?
c. CH3COOH>H3P0O3>H2S0O4 2. \ Helium-I (b)Helium-11 )
d. CH3COOH>H2S04>H3POg Lol S Qe Y
66. Whichoneamongthefollowingisanélectroc | ¢ o Which allotropy of carbon is in rigi
hemicalcellthatcannotbecharged ? v ggs&ﬁém(%gsﬁ'3|rf§:§gémre?
a. Electrolytic cell sl (c) Diamond (d)Carbon
b. Storagecell black
c. Primarycell (7T\Whatarétheelementswhichareliquidsatroo
d. Fuelcell mtemperatureandstandardpressure?
7. ThepHoffreshmilkis6.Whenitturis 1 Helium 2. Mercury
sour thepH 3. Chlorine ~4. Bromine
’ Selectthecorrect answerusing thecodes
a. becomes<6 ivenbelow
b. remainsthesamei.e.,6 a) 2and 3 b)2, 3and 4
c. becomes > 6 Z: 2and 4 d)1 ancks
: _ 78. Theform of carbon known as graphite
d. becomes neutral, i.e., 7 a. Is harder than diamond
68. Whichone among thefollowing is adouble b contalnsahlgher percentage of carbon
salt? than diamond
) c. isa better electrical conductor than
a.  Ka[Fe(CN)e] ; ﬂlamonoll ]
b) K2S04:-A12(S04)3-24H20 . hasequalcarbon-to-
(b) K2504-A15(SO4)3 2 carbondistancesinalldirections
(c) CuS0O4-5H,0 79. WhichoneofthefollowingisalsocalledStran
(d) NacCl gerGas?
a. Argon (b)Neon
69. Oxygenandozoneare (c) Xenon _ _
a. allotropes(b)isomers ) (d)Nitrousoxi
(c) isotopes (d)isobars de
70. Aglassofwaterdoesnotturnintoiceasitreach 80. Statementl:Soapsdonotformlatherwithw
es0°C.Itis because atercontainingsaltsof calciumand
a. waterdoesnotsolidifyat0°C magnesium. Stdfeme
a. Boththestatementsareindividuallytrueand

b. acertainamountofheatmustbesuppliedtoth
eglassofwatersoasto solidify

StatementllisthecorrectexplanationofState




89.

82.

83.

oo ow

w >

Cont. No. 9826228312, 9630885746, 907

for- IAS/PSC/BANK/SSC/SI/RAILWAY /CPO/CDS/NDA/NET/VYAPAM & Othey

mentl.
BoththestatementsareindividuallytruebutS
tatementllis notthe correctexplanation

ofStatementl.
Statementlistrue,butStatementllisfalse.
Statementlisfalse,butStatementllistrue.

. Theenzymeinvolvedintheoxidationofetha

noltoformvinegar is

zymase (b)oxidase

(c) acetobacter (d)invertase
ThemainconstituentofVinegaris:
Aceticacid (b)Ascorbicacid
(c) Citric acid (d) Tartaricacid
Soapsaresodiumsaltsoffattyacids.Whichoft
hefollowingfattyacid does not form soap?
Butyric acid (b)Oleicacid

(c) Palmiticacid (d)Stearicacid

. Identifytheenzymewhichconvertsglucoseto

ethylalcohol.
Zymase (b)Invertase

(c) Maltase (d)Diastase

. Mineralacidsarestrongeracidsthancarboxy

licacidsbecause L Y
mineral acids are completely ionised
carboxylic acids are completely ionised
mineral acids are partiallysionised =
carboxylic acids are partially ionised™
(@) Aand:D (o) Band C

(c) Aand B (d Cand D

. ‘Drinkingalcohol’isveryharmfulanditmuans

thehealth.Drinking alcohol’standsfor:
drinking methyl alcohol
drinking ethyl alcohol

drinking propy! alcohol
drinking isopropyl alcohol

. Whichofthefollowinghasshortestcarbon-

carbonbondlength?
C2H2  (b)C2H4

(c) C2He (d)CeH6

. Whichofthefollowingcanbeuseddistinguis

hbetweenethane and ethene?
Alighted splinter
Aqgueousbromine
Litmussolution

Limewater

Column-I Column-I1
Carbon black P. Waterfilters.
Diamond Q. Fuel

Coke R. Jewellery

D. Charcoal S.
Fillerinautomobiles
(@ A-Q;B-R;C-S;D-P
(b) A-P;B-Q;C-Q;D-S
(c) A-S;B-R;C-P;D-Q
(d) A-S;B-R;C-Q;D-P
90. Column-I Column-I1
A. Polyethylene P.woodglue
B. Cellulose acetate Q.Soft drinks
C. Polyvinylacetate
R.Descalingagents
D DilAceticacid S.Photographicfilm.

(@ A-Q;B-S;C-P;D-R

(b) A-S;B-Q;C-P;D-R

(c) A-Q;B-S;C-R;D-P

(d) A-S;B-Q;C-R;D-P

91. Gasweldingusedforweldingbrokenpieceso
firon,wenormally use a mixture of:

a. ethane and oxygen
b.. ethene and oxygen
\ c. ethyne and oxygen
d. ‘ethene and air
92. Onthebasisoffollowingfeaturesidentifythec
W orrectoption
A. Drinkscontainingethanel

93.

B. Thes_edrinksaremajorsourceofincometogov
ernment

@ Alcoholicbeverages

(b) ¢Softdrinks

(c) Carbonated beverages

(d) Rectifiedspirit
Theflavourofappleismainlyduetowhichon
eofthefollowing?

a. Formalin (b)Benzene

(c) Ethanol
(d)Benzaldeh
yde
94. Whichof the following has maximum
density?
a. Chloroform (b)Water
(c) Benzene (d)Ice

95. Additionofethylenedibromidetopetrol
a. increases the octane number of fuel
b. helps elimination of lead oxide
c. removesthesulphurcompoundinpetrol
d. servesasasubstituteoftetraethyllead
96. Theoffendingsubstanceintheliquortragedi

Comp
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esleadingtoblindnessetc.,is
a. ethylalcohol
(b)amylalcohol
(c) benzylalcohol
(d)methylalco
hol
97. Thecharacteristic odourof garlicis dueto
a. achlorocompound(b) asulphurcompound
(c)afluorinecompound(d) aceticacid
98. Whichoneofthefollowingisanactivecompo
nentofoilof clove?
a. Menthol (b)Eugenol

1.
2.
3.

Itisusedinweldingindustry

It is a raw material for preparing plastics
Itiseasilyobtainedbymixingsiliconcarbidea
ndwaterofthesestatements
(@) 1and 2 are correct
correct

(c) 2and 3 are correct
are correct

(b)1 and 3 are

(h1,2and 3

100. Whichoneofthefollowingisthecorrec

tsequenceinincreasingorderofmolecularwe
ightsofthehydrocarbons?

(c) Methanol a. Methane,ethane,propaneandbutane
(d)Benzaldehy b. Propane,butane,ethaneandmethane
de c. Butane, ethane, propane and methane
99. Considerthefollowingstatementsaboutacet ~ d. Butane, propane, ethane and methane
ylene:
1. SRR (ii) sEThRTTHEws i Edw |
FTRTS RS TA AR ST (ii) sreommdedsssiodadss
TS feuTeE EemrrEEaag. O fewmy (iv) sEefufumamEdwde]
- P s >
! wrRTgetHHuETrrETaEHE2 0 0f st iR
. AT ETaRTErf?
(i) (i) . '
v3.01 2.99 (1) A0t
63.05 2.95 (if) Q4fesfiicwrm
(i) i . | (iii) 93.3ffafeaa
RTSTATRI T e s S e e

(iv) 30fehiferem

Comp




Cont. No. 9826228312, 9630885746, 907

~= for- IAS/PSC/BANK/SSC/SI/RAILWAY /CPO/CDS/NDA/NET/VYAPAM & Othe

3. Ul HeRdTERITR,
f5e5.85smNaCl(s) sfa500 wruerz?
(i) 4wierea-1

(i) 20"rerea-1

(iii) 0.2+ewa-1

(iv) 2urerua-1

4. 7fe5M o500 mL 11500 mL
(i) 1.5w

(ii) 1.66wn

(iii) 0.01 7w

(iv) 1.59ww

5.
AIHEATReRIaE I T T T Rac e e ATy
Hih AT AR ?

(i) 4z

(ii) 469 Na

(iii) 0.40g Ca

(iv) 129mz

6. afermirst (C6H1206) Fraiza0.9
g L-12, drrivcehisteh mieRd TR iii?

(i) 5w

(ii) 50w

(iii) 0.005ww

(iv) 0.5w

7.

50018, 25amusfiuaiaaTerstashmt
NINEERI I

(i) 0.1ww

(i) luw

(iii) 0.5

(iv) lug

8. foreviiuareiohusrmien6.022 X
1023w/ 3Erasl0.02M

H2SO4==s100 mL
HrSEH2 S O4harrstihiaen H
(i) 12.044 x 1020377
(i) 6.022 x 1023=17y
(iif) 1 x 102331
(iv) 12.044 x 102331
Q.
FTATSTEATFATSSH R TSRS H I T She T
(i) 0.034%
(ii) 27.27%
(iii) 3.4%
(iv) 28.7%
10.
T TTeheh AT e ST SO TR oA H s HT:
CH;0sm180 g
L RIREEIE I IEE T EERIEYI
(i) CO9H1809
(i) CH20
(iii) C6H1206
(iv) C2H402
11 fefreiogaramEad.12 g mL-1z,
arl.5/mL
IENREEILIPE ot EConIT) H
(i) 4.79
(ii) 4680 x 10-3¢g
(iii) 4.680g
(iv) 46.80g
12.
NPT 2
(i) TFfiTeReh e Tdea oAU T
(i)

Comp
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(iv)
arl
13.

‘ i
2 4Fe(s) + 302(g) — 2Fe203(g)
(1) SATTRRHHATSS A TR SR IFAEEIHT =
FTEHA TS A TSR TR TS eAH S T e R
TG ETUToh AR

(i) sz =

SCATRHIFHAZWH, FET,

B RRICIE A EREARIEIERISIGIE

(i) forefusmatiirenne (cieamsiiadism)

EAK BCR EI R YA O R E A IEIC RS IE Cani
(iv) afsfereiushatiimrmes (chearsiiaism)
FmmTIRhdd sTedsaTea-e 2O 3FhmmrRy
HEil

14.

FEHTTRE VTR aH e ST TR = TN e el
yfafsramadeiR|

(i) 2Mg(s) + 02(g).—= 2MgO(s)

(if) C3H8(g) + 0O2(g) — CO2(g) +
H20(9)

(iii) P4(s) + 502(g) —P4010(s)
(iv) CH4(g) + 202(g) — CO2(g) +
2H20 (g)

15.
frfaRaaHem e aeRaTe g T
[EREEARIGEIERIS L

(i)

LRI K EE SIS I E SIS C T QR R
e A TR IR T3 L 288

(ii) FrelEreiETsese,
atatgCO2sRCO,

ST AT ISR g o TShTa ok (< TSR
et TASTITaHadel: 1|

(iv) Reramasierm200 mL zrEes=100
ML iR fiesz200 mL
STAATIZ IR

16. srzasaw ey, Na+,
Mg2+, F— 3irO2—

ERE BN ICIE N EIREAE AT )

_®

(i) F- <O2- <Mg2+ <Na+

(if) Mg2+ <Na+ <F- <02—

(iif) 02— <F- < Nat <Mg2+

(iv) 02— <F—<Mg2+ < Na+

1 7 FrefaRaaassmusufaeiseTeic?

(i) Fafem (S = 96)

(1) st (S = 98)

(i) ==m (5= = 92)

" (iv) 2fmr (3 = 65)

18. FreimgEmERTTeh S, p; d sif
e LA TS

TTeRTshAR:

(1) we>hR>>tw

(i) w>E>di>Tm

(i) fi<di<wa>uts

(ivyf>p>s>d

19. Na, Mg, Al =RSi

FITIHARAT I A

(i) T<umsir>sra<dt

(i) Na > Mg > Al > Si

(iii) T<umsi<srer<dt

(iv) Na > Mg > Al <Si

20. Trerettfem (RHTRATRG4)

EQEREAIEEIERI

(i) [Xe] 4f 3 505 652
(ii) [Xe] 4f 7 5d2 651

Comp
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(iiii) [Xe] 4f 7 5d1 6s2
(iv) [Xe] 4f 8 506 6s2
21,

[ |G PG = U E N EA S IS DR T B FITE R
(i) TR AT FeE |
(II) Y aoac?i% HEATTfcashdca i e d 3|
(i) srroracaientere, 3d-FHarwdp-
TR TGS A S -ThefehHUgcIgeTa M v da|
(V) SH-SREHATaHSE,

i I MY
ESISINiN
22. ¥, st (seTed)
TSI TR TE e,
(i))F>CI>Br>I
(i) wh<dima<sfem<as
(i) wh<diua>s>amg
(iv) Th<diua<sfem<sm
PRI SR B4 RS e | = R LB R S
() st e
(DEIEREIETININEEARtEIE ZIED
(iii)

PSPPI S i
(iv)
=

24, Iacafsigaae 4 - SaiRiSds,
ELNIGH

(i) efreteea

(DEEzUGE]

(i) <forTsew

(iv) gasm

25.

it S :

2
(i) >>1 +
(i) I+ > 1->1

(ill) 1>1+ >

(iv) =>1>1+

26.

R TR TSR e Tg e et S ohITE
EIEEnY

(i) [cTew3sihn s3]

(i) [sfruwd- sieaead+]

(iii) [BCI3=mBrCI3]

(iv) [NH3smRNO3-]

27.

AT A RI R R EhTgg e e e ?
(i).€02

(1) ==

(1) H20

(iv) SO2

= 28. NO2+, NO3- sirNH4+

T
Sufa

(1) wedht, Taei3sTRugdi2

(i) T, Tei2sfeai3
(iii) a2, vadfieieadi3
(V) TEdi2, adi3siagdt

29. PO4 3-sm5wP-0
ST SRAT RS e e TTaRTaTaTe
(i)+1
(ii) - 1
(iii) - 0.75
(iv) + 0.75
30. NO3 -
e e
FrREHREETR
(i)2,2
(i) 3,1

Comp
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(iii) 1, 3

(iv) 4,0

31.

(i) BH4-

(ii) NH2-

(iii) CO32-

(iv) w3+

32. zasaefrK e K parsiemsaKp =

Kc (RT)A n sfifwiNH4CI (s) NH3

(g) + HCI (g) *feren smme=memm?

()1

(ii) 0.5

(iii) 1.5

(iv) 2

33. wfafrnH2(g) + 12(g) 2HI (g) ¥R,

AHFARHIAG V> Orrderieeisn(K)
gl

()*%=0

(i) > 1

(i) =1

(iv) #<1

34.

G ENE I

(i) .

At - -

2

(ii) Freprsre TR

(UDEEiEIRE ERI R ERRE I

(iv)

BRI Rl B U R MRS ISR R IE

Rl

35. PCI5, PCI3sCl2uawsigaheib 00K

T qeResiEehaEasrRr0.8 x 10-3

mol L-1, 1.2 x 10-3 mol L-1s1.2 x

10-3 mol L-12 .sfafsmrPCI5 (g) PCI3

(g) + ClI2 (g) *feeKc swmm=mm

(1) 1.8 x 103 mol L-1

(ii) 1.8 x 10-3

(iii) 1.8 x 10—3vgHia-1

(iv) 0.55 x 104

36. frfafgadaesamhaTTeas?

(i)

W@,

BRIl Ca I i DE RPN EES

(i) s (111)

BN CNRE RPN S ERE R BRI CaY
IESE NI N UEARERIE EEIS

(iii)
ST S TS AT e R RIS [ TR |
(IV) arqeHsiguRvTRH

HIHETG 31T haToh [T CaTRI R eIt

37,

B C S eIt G G e oo Eo ek Te e e e

TGRSR,

IR CREIME R HE EE R ME RGP M SIS
STl | THEHOTER S ST e TS & [STATR 36T
ST [ STh T aahi|

[Co (H20)6]3+ (aq) + 4Cl- (aq) [
[CoCl4]2- (aq) + 6H20 (1) (remsh)
(Frem)

(i) AH > Ogfafsramrfa

(i) AH <Osfafmmef

(iii) H = Oufafsramsfere

(iv) seeHerReTaRRAH

EIEE AR RIEEHRTIRIS IREXI

38. 25°C wieermsempH 7.0259-
gratter, H+ smaisitOH-
ArAEEETEHeei60° C wereserrpH
HHfRAATRIT?

Comp
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(i) 7.0 Feer (i) 0.1 mol dm-3 NH40H =%0.1 mol
(ii) 7.0 Fsrer dm-3 HCI
(iii) 7.0 =m (ii) 0.05 mol dm-3 NH40H si0.1
(iV) TrreTe mol dm-3 HCI
39, wrser, Ka st (iii}) 0.1 mol dm-3 NH4OH f0.05
| dm-3 HCI
T mo
i el o (iv) 0.1 mol dm-3 CH4COONa

AR 1.74 x 10-5, 3.0 x 10-8:ik1.8
x 10-4ZzFerai®0.1 mol dm-
3fgerrrRpH wifeffaaaasy-amsradR?
(i) creffire>eEueiraTe>hitwufie
(i) TEaaRETRE>TfaiFufe>wiitmuie
(i) wiftfrufire>auaaraufe>ufafirufie
(iv) wifferufae>ufaferufie>arnadauite
40.al1 K, a2 K sira3 K

PP P e
|

TH20aTE+ + THeE-

e Et + a2

H2S 2H+ + S2—

al K, a2 K a3 K ei=adsser
(la3K=alKxa2K
(ila3K=alK+a2K
(ilija3K=alK-a2K
(ivya3K=al K/a2K

41.

B F 3 e Raata feraetaemomesatt
RIS ATE ?
(i) srRfrasraymen
(DELSSSREERRYI
(i) easmEemon
(W ELSESINE RGP RS R
42.

SRR R
TSR TT?

3i0.1 mol dm-3 NaOH

43.

Frafafaarafrafaemert erdizsasaeT
[EERRENIK RS

(i) 0.1 mol dm-3 AgNO3fer==

(ii) 0.1aeriuy- SuardiuaamTen

(iii) H20

(iv) StefmifTn

44. 0.0 mol dm-3 CH3COOH (Ka
= 1.74'X 10-5) spH wmme=merm?

(i) 3.4

(ii) 3.6

(iii) 3.9

(iv).3:0

45, CH3COOH #fereKa 1.8 x 10—
S5esRNH40H wfetK b 1.8 x 10—
SRismifrmTEeewpH g

(i) 7.005

(ii) 4.75

(iii) 7.0

(iv) 637 Feft=r

46. =rtufrrA B

HIATUYUTE b HAEATH AT T RacH e T
FHTHERATI|

(i) st =0

(i) s> 0

(i) sfiefi<0

(iv) GV =-RT In2

47.

HECHERI RN CE I R B EN IR R o]
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T TIARTAR TG, FahTIATLEe

ChateliersRrsiasamtrerTersare siish

RIEEERETY

w2 (S) + 3w=2 (S) 2uw=3 ()

efafaaries e,

RIECRECICISERICTRE IR IERISIGIES

ATIHTR IS A FSTeTGT TSI ?

(i) K adem

(ii) K =em

(iii) e

(iv) K srvieemsiRasmasgastiaema e

48. 30°C w=q,

THIE S AT RS e SR TSI E g
e N

FAYATFTTHRIATE ?

(i) urfi<sem<udicr

(i) afi<wdic<sen

(iii) Sen<uehidm<urft

(iv) THiER<Ser<urt

49, RIS NESTERIAT -

(v) Ffcemmacheiur-fierent

() FirmEE e aT R HERETTSHT

(G RS AR R BERIR LIS R LEa T

(d) =373 K dermees

50. sefifermrseaaimshiTaededaiisas -
T|AfeeRE
EllEINICI T R e ELEC IR E G
GERINE IR LR
EIESIEEI I REI R

51. eisheherehlaaa i ETsTare?

B S NIRICEREIE 0] g B DERE T e G
ST T SRR R

T AR HE IS

IR eTaeR e

52.

T RaaHS e T e AT TR eTeh TR
TER?

Le(Eol | DL C OIS

HwaEehe

i Reracgs
SICIERI

53. FrfafaaHeshaTeauaH TR e ?

yFe 3rRMnN . FadrrEs
sMAQ 3RPb . e
#@1Pb sCu . FemEie

gliNa iRNH4 . sFwiere
54

Qe TSR HARRGa20
e e R HEeh T g Heh A TsTehTe ?
@ 1 () 2

()3 () 4

@55,

Tegent

1. afeaeEsTss

2. TR EES

3. wefufrmergEaEs

4, smifaveEeETEs
TR ST T
EAEN

REi Il

@4213

4123

) 4321

@) 1234

56. FATTRITHE - HTCFAHFFHTUE @ 7
TSI MR (S ToA e TSI TS

AT TR . 53
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Hi IR
SINCNERERIIN RGeS R P RERNEPGETEI

EEZGT ) )
57.pH

Thehgs A Raqaas HaT/@saTadiR/E?
|. TRTFATOEh AT

faefrar, Jurn0-
14arehfiaraifrarieemafiesdea el 0-
14 .2

[11. feammSaaTeRaRmT,
A ISTFAdISa R TR

Bl e T AR U E T R ARG Y
WEEIESREE)

(&) &, fcsiagda

(=) Hethaal 1|

QI EENEGR

58. #ul: argeERsaTfEag|
FeAl algwqumq@dwsﬁwﬁm%

NG EIEDEC IR e rede | | e
AR eI
TR TaeTd g eer] | el
FredEHElR|

Hhiswer| wereafertereml | Terar

el TeragaifRReAl | R

59. w7 pH
EINIEHIEE K ENRNHE RIS G PR IM R
Fifeh

AR HA TR ST T e o fred Tt
STTaTe

St [eTaehe U e e HeTe e raTfiehrereett
PEEIEGIH

o e oo TR T3 TR ST TR TR 3T
RIEiEAE IR RIS
AR STEH TRATE ST

60. RumeaaHeEgaiERTedagarl 08
M zigEeeeRicrgpH R ?

7 (f)> 7ol

() <7 (&) 14

61. ayarueHs X'

SRR ISR aTRaTe 37 X'
2

u| e

EllEPEIECa )

HeEaaiwuie

BRI

62.
ARATATACHER TR ad g 3T LT e feTHeeh
ATAR AR TR STHAAATATACHI I HT U LA
RS | R I O Rl | Eae DL e Gl et (F otk
IERGIHESE]

MERIEIHEIEIE

CilleauCHR Sl

HhSarEie

AT IR

63.

. S R R

ToER?

EACH
(v) a3 (sh) 23icd
(<) 233 (1) 1sid

Comp



Cont. No. 9826228312, 9630885746, 907

~= for- IAS/PSC/BANK/SSC/SI/RAILWAY /CPO/CDS/NDA/NET/VYAPAM & Othe

64.

E = I C I Rt C R R I G NI E e I CA LR A RS
g,

Frem Cl 23t romsicesitFe Br3sasan
LSS TR

2FeBr3 (aq) + 3CI2 (g) = 2FeCl 3
(aq) + 3Br2 (1)

FrefaRaqaes aeraTeds
EISET I NI EDICarali

. L .

& : ; SN SO
Bl CI P e P EoiE

TR TS e AT R TH TR U
65. f=ferfaatesa-

I TSR TER hHe ?

wH2S04 > H3PO3 > CH3COOH
sMH3PO3 > H2S04 > CH3COOH
@CH3COOH > H3PO3 > H2S04

€CH3COOH > H2S04 > H3PO3
66.

frefeTRacH e Eshg Ao Heh cTeeTe SRSt
HIERISIEEn I

ST AT [T

R

Hrrerfierae

IR ]

67. aiguERTTE6R SR g STdTe, drdie
TESTATE<6

Siagedrs, I, 6

Hiersmare> 6

SR, i, 7

68. fFfafaaiasmaETTHe?

©K4 [Fe (i) 6]

(s1) K2S04 - A12(SO4)3-24H20
(df) CuS0O4 - 5H20

(&) NaCl

69. TSI
vjuater (sft) steam
GhEEEEE ) EIEIE
70.
: Vefiaf s
NRIHEIEICERR
0°C . weHarER
ST Yok R TR o I TH ST AT fefshiTT
refeTdTiehegsTas
I EIE N IR AR E R LI EI E EA B CAE ] Y
GUEEEELSIY
a0 K wsmare
71. F=fafaariafrariunserTdia?
T ATerefe (ff) TRt
(&) IS (=) i
P AEEI PR IE IS IE e AR B
T[heTTT-T R
i fafrrererferar

EECiCIcTaIER I

ElRGICLR R

13T Raqia eI s haTae ?
TR R TSI 2

ulfEe () smiaie

(<) urraTsy (EF) weAREeeRIfET

74. FefafaaiasiraeeTmes?
yEifem (f) veafufem

(&) @irer (1) =R

75.

Oeftoh el e o o HTHRAh T ATCE AT ?
uEifem-1 (b) d@ferem-11

(&) Eferm-111 (&) dfmm-1V
76. FreThIRA-
HreTETdTehs R ferdaret=-TR?
e (oY) BerH

(&) & () wreiscrsh
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77.
FHHATTHH S AT ATgTd b adcaa?
1. @iferm2. ar

3. FaR4. s

TR FTRITTREE S T

(v) 233 (sh) 2, 33fid

(<) 234 (&) 133

78. FTeHFEIHIBIZEHETHSITSTATE
HEC R IEEH
EUCAGREIEE EECARIRN R B E AT
BlHICEERNER REIRCT
G- 8 -FeTgie

79. frafafaaiafraesiafimaeae?
w3 (sft) e

(&) e () TregmsitaTse

80. =eml:

BlER R R E I INREEIRE LSRR

EEIGHEDE b

BIEE R RENINEIGH
TSR i TaegaEe a3l |, werl
LI HEICI

e fhTaeTags el |, el
FrediEElR

e weae, wegewel | sracR
S| Terar, AfETRel | TR

81.

o S P
7

TSTEES () SRS

(&) wEfierseet () e

82. e,

yiufhfeshufys (s) wepifderufie

(&) wrsigshufire (<) et

83.
BIERER R e R Sk REMR RIS SR )
EQEC LTt CEE R RIS
ufeferufae () shfvetfas
(efr) mfsrfespufes () ©aferufas
84.
N S -
frafdaertara|
NEIESENCIESECE]
(&) et () seH
85.
i
A. Gl TR
CIRAEIES QAU SR K RIERR
C. wisismaterimsras e
BRCAE B NER Lo INERR R IR B

(V) wereet (i) sirafieet

D (&) wi (&) et

86. 'sradiEr

SRR B haITe H AR TEh [STal G adTa| 3T

TeHIHT. shiefee:

LB Rea Tl Tl

SufrereTehgedHT

HaTgA TR g T

SR Rea TRl

87. ffafaatafereshienrs-
e

uE2w=2 (s) H2wad

(<) @2w=16 (1) H6u=6

88.

FrefaRaataframemmuaTsiteefited=sia

FLAH AT ?

TUHIHIR

EISSIREIGE]

Ht|fetremafaem
E{EIEEA)
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89. wietw- | #iem- ||

A. FreTsP . dretfhed

B. Q. st

oY, FIHAT, SIoTdt
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(iv) 26. (ii) 27. (iii) 28. (ii) 29. (ii) 30. (iv) 31. (i) 32. (iv) 33. (iv) 34. (iii) 35. (ii) 36. (ii) 37.

(i) 38. (iii) 39. (iv) 40. (i) 41. (iii) 42. (iii) 43. (iv) 44. (i) 45. (iii) 46. (i) AGV =0

Justification : AGV =—RT InK
At the stage of half completion of reaction [A] = [B], Therefore, K = 1.
Thus, AGV =0
47. (i), Justification: According to Le-Chatelier’s principle, at constant

temperature, the equilibrium composition will change

but K will remain same.
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